S48 97 1 HEAE (Fo

0: HRADH)

K4 HEER (A) | H8 [ 4 (B) it (A+B) Dk
JIHI 3T 2,421 3 2, 762 -1 2, 826 5, 588 -9
JHPTHT— T H 990 2 915 4 827 1, 742 4
T — T H 565 1 551 0 565 1,116 3
P =TH 644 1 723 4 660 1, 383 5
JHPTHTIU T H 477 1 497 -1 518 1,015 -5
P HT H 314 0 348 2 314 662 1
PR T H 282 0 351 1 361 712 2
FESEHT 198 0 200 0 212 412 -1
A 373 1 446 0 460 906 0
T H 1, 856 8 1,949 4 2, 007 3, 956 12
PIPTHT 327 1 335 0 327 662 0
T 896 948 8 927 1,875 9
T —TH 281 356 -1 398 754 :
T — T B 328 431 -2 426 857
HHT =T H 496 682 -1 673 1, 355
FHTIY T H 273 398 -1 372 770
T 233 266 0 251 517
H] = 289 350 ) 331 681
=K 443 457 -5 468 925
— Y KFNT—TH 0 0 0 0 0 0 0
— Y ARHM T H 33 0 44 -1 43 0 87
G 104 3 126 4 125 2 251
— Y KHTH 5 0 5 0 6 0 11
KH B 659 1 839 4 849 0 1, 688
[E TN 4, 442 3 4, 830 -6 5,019 6 9, 849
IR 4, 539 19 4, 483 13 4, 544 6 9, 027
TR 1, 359 0 1, 469 6 1,522 8 2,991
B+ 5 0 7 0 7 0 14
BELHR—TH 867 2 764 0 927 4 1,691
ELR TH 1, 087 5 1, 086 2 1,143 1 2,229
ELR=TH 841 —7 774 -6 830 -10 1, 604
ELARMNTH 688 -3 693 -2 691 —4 1, 384
B LRI TH 695 2 770 6 681 -7 1,451
ELHRANTH 0 0 0 0 0 0 0
B T 1,833 7 1, 844 -2 1,801 1 3, 645
Wy —T1TH 285 208 -2 289 : 587
Wy T B 238 248 1 246 494
Wy b ="TH 426 435 -2 455 890
o T H 697 681 2 745 1,426
Wy T B 415 473 5 502 975
IT—T1H 255 299 -2 335 634
FEET T H 556 557 3 621 1,178
T =T H 185 188 -1 226 414
2 31, 900 33, 878 31 34, 530 68, 408




